## DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY,

Chhatrapati Sambhajinagar – 431 004, Maharashtra State (India)

FPABX (0240) 2403397 to 400 Off Tele (0240) 2403104 to 106

Registrar (Offi.) (0240) 2403333 (Resi.) (0240) 2400203

Fax (0240) 2403113 / 2403335 Web Site www.bamu.net E-mail vc@bamu.net E-mail registrar@bamu.net



UNIVERSITY CAMPUS Chh. Sambhajinagar-431004 (Maharashtra) INDIA

Date: - 19/09/2025

### Ref. No.UE/TA/2025-26/

### INVITATION OF QUOTATIONS IN TWO BIDS SYSTEMS

(Last Date for Submission

04/10/2025

To.	
M/s:	

# Name of work: - Repair & Renovation work at old Environmental Science Bldg. for Management Science & Chemical Technology Dept. in the University premises.

The Terms & Conditions on the reverse should be read carefully and noted in order to comply.

	SCHEDULE - B				
Item No.	Description of Item	Qty	Unit	Rate	Amount
1	Removing cast iron or wrought iron or A.C. pipe and stacking them as directed with all leads, lifts etc. complete.	36.15	Rg.M	23.10	835.07
2	Providing and fixing P.V.C. Rain water pipes of 110mm outer diameter and having wall thickness of 2.2 to 2.7 mm confirming to I.S. 13592-1992 including proper rainwater receiving recess with P.V.C. plug, bend, necessary fittings, such as, offsets, shoes, including fixing the pipe on wall using approved wooden cleats projecting 25mm to 40mm from face of wall a fixing with clips of approved quality and number filling the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fittings and additional 2 piece socket clips shall be got approved from engineer in charge etc. complete	13.50	Rg.M	597.45	8065.58
3	Removing wooden or A.C. partition including frame work and stack-ing the materials as with all leads, lifts etc. complete.	27.17	Sq.M	42.00	1141.14
4	Providing and fixing in position, Single shuttered aluminium extruded powder coated openable door of overall size 0.90 m x 2.40 m with aluminium door frame of powder coated section 101.60 x 44.75mm, 3.18 mm thick and shutter comprising of powder coated section having bottom and lock rail of size 150 mm x 44.5 mm x 3.00 mm thick top rails 47.62 x 44.45 mm x 3.00 mm thick vertical style 47.62 x 44.45 mm, 3.00 mm thick and for	3.96	Sq.M	8559.60	33896.02

					165
	shutter plain glass panes 5 mm thick for top panels and 12mm thick both side laminated phenol bonded particle board panels for bottom panels etc., I.S.I. mark, heavy				
	duty. Hydraulic floor spring of 150 Kilogram capacity.				
	having heavy duty concealed lock, necessary beading.				
	glazing clips, PVC gaskets, 250mm length tower bolts,				
	150mm diam. pad handle, etc. as per detailed design and				
	drawing or as directed by engineer in charge including all				
	materials, labours, and equipment etc. Complete				
5	Providing and fixing 50mm thick aerocon panels for partition of approved make of size 3.00 Mtr x 0.60 Mtr & 75mm thickness of MS angle 75mm x 75mm x 5mm, length 50mm x 5mm flats in longitudinal on spacing of 600mm direction welded back to back including all necessary materials, floor channels of 50 CC ceiling channels of 50 CC jointing compound and paper tapes, fixtures & fastening, gaps to be filled by POP and including scaffolding etc. complete. (With prior permission of S.E.) As directed by Engineering the	3.96	Sq.M	2625.00	10395.00
	of S.E.) As directed by Engineer in charge.  Providing and fixing white glazed earthen ware lipped flat				
6	back/corner type Urinal with PVC 5 liters flushing cistern with fittings, inlet pipe with stop tap, brackets for fixing the cistern, 32mm diameter P.V.C. flush pipe with fitting including leads oil pipe, lead trap and soil pipe connection	1.00	No.s	5027.40	5027.40
	up to the outside face of wall.				
	Providing and applying priming coat on concrete /				
7	masonary / Asbestos Cement plastered surfaces including scaffolding if necessary, preparing the surface by thoroughly cleaning oil, grease, dirt and other foreign matter and sand papering as required etc. complete.	461.18	Sq.M	37.80	17432.60
	Providing and applying plastic emulsion paint of approved				
8	quality, colour and shade to old and new surfaces in two	461.10	C- M	04.00	20520 12
	coats including scaffolding, preparing the surface.	461.18	Sq.M	84.00	38739.12
	(excluding the primer coat) etc.complete.				
9	Removing cement tiles, or marble or polished shahabad floor or dado without bed concrete including stacking the	<b>50.01</b>			
,	materials as directed with all leads, lifts etc. complete.	53.91	Sq.M	47.25	2547.25
	Providing and laying vitrified matt fininsh tiles having size	1			
	590 mm to 605 mm x to 605 mm of 8 to 10 mm thickness				
10	and confirming IS. 15622-2006 (Group Bla) of approved make, shade and pattern for flooring in required position 48.01		Sq.M	1698.18	81529.62
	laid on a bed of 1:4 cement morar including neat cement				
	float, filling joints, curing and cleaning etc. complete.  Providing and laying vitrified mirror / glossy finish tiles				
	having size 590 mm to 605 mm x 590 mm to 605 mm of 8				
	to 10 mm thickness and confirming to IS. 15622-2006 (				
11	group Bla) of approved make, shade and pattern for dado	1.97	Sq.M	1332.78	2625.58
	and skirting in required position fixed in 1:4 cement mortar	,,	54.141	1332.76	2023.36
	including neat cement float, filling joints, curing and				
	clearing etc. complete				
	Providing and fixing false ceiling of 12mm thick as per drawings including powder coated G.I. wall angle of				
12	20mm x 20mm size, G.I. grid runners of size 20mm x	33.87	Sq.M	1603.35	54305.46
	38mm at 600mm center to center bothways and suspended		-		

Qu	otation
	166

-	Say				276468
	Estimated Amount				276468.40
15	Royalty against extraction of material such as metal, sand, murum, rubble, etc. for construction work.	1.59	CUM	237.37	377.42
14	Providing and laying in position flooring of telephone black / Amba White / Cat bary brown / Ruby red / Ocean Brown granite stone of approved shade and size 18 mm to 20 mm thick on bed 1:6 cement mortar including cement floats triking joints, pointing in C.M. 1:3 curing and cleaning etc. complete.	4.05	Sq.M	4239.76	17171.03
13	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:3 without neeru finish to concrete or brick surfaces, in all position including scaffolding and curing etc. complete	7.50	Sq.M	317.35	2380.13
	using G.I. 3mm wire including fixing using butterfly clips and fasteners including transporting, scaffolding all necessary labour and machinery, finishing etc. complete.				

T.A.

Dy.E.

E.E.

Registrar

#### **TERMS AND CONDITIONS**

- 1. The quotation should be addressed to Registrar, Dr. Babasaheb Ambedkar Marathwada University. Chhatrapati Sambhajinagar & submitted in the office of Executive Engineer, Estate Section, Dr. Babasaheb Ambedkar Marathwada University. Chhatrapati Sambhajinagar
- 2. The Contractor should provide following document at the time of submission of Quotation:-

### (A) ENVELOPE NO. 1 DOCUMENTS)

The first envelope "Envelope No.1" shall contain the following documents.

- vii. The Earnest Money Deposit shall be paid via Demand Draft mode only. The DD should be enclosed. (D.D. of Rs. 3000)
- viii. Copy of Certificate in Original or an attested copy as a registered contractor with (a) State P.W.D. (b) State Irrigation Dept. (c) Maharashtra Jeevan Pradhikaran Authority.
  (d) Municipal Corporation etc. I M.I.D.C. in appropriate class as may be applicable of civil, valid on the date of submission.
- ix. Copy of Income tax return FY 2023-24, i.e. AY 2024-25
- x. Copy of pan Card.
- xi. Copy of valid registration certificate under good and service tax Act 2017.
- xii. Copy of details of satisfactorily completed a. should not less than 80 % for one similar work of estimated amount of the tender called. b. Two similar works whose cost wise work should not less than 50% of estimated amount of the tender called. c. Three similar works whose cost wise work Should not less than 40% estimated amount of the tender called in any Govt. or Semi Govt. organization only during last five years i.e.,2020-21, 2021-22, 2022-23, 2023-24, 2024-25 (In the proforma of Statement No. III). (As Per G.R. No.सकीर्ण /२०१९/प्र क्र ४७/इमारती -२, दि. २५/१०/२०१९)
- 6. SGST and CGST have been implemented by the respective Govt. with effect from 01/07/2017. So contractor must quote his rate keeping effect of GST in mind & no claims will be accepted by this office in connection to GST later.
- 7. The successful bidder has to submit all the supported documents/ bills/ vouchers of the materials brought at site while claiming the bills.
- 8. Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar does not bind itself to accept the lowest or any such quotation and has the right to accept or reject whole or any part of tenders or a portion of the work without assigning any reasons. No correspondence in case of rejected tenders will be entertained. Incomplete quotations are liable to be rejected.

All questions, disputes or differences arising under and out of or in connection with the contract, if concluded, shall be referred to the sole arbitrator appointed by the Registrar, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar.

### **ANNEXURE - B**

The building materials of product listed below shall be considered good materials and this tender should be based on the use of the materials of the following manufacturers. In case any of the following make material is not available, hence in such case, the other make can be allowed only on satisfactory evidence of non-availability of prescribed make. In both the cases the necessary tests need to be done only from the approved laboratories. The Executive Engineer & Architect may allow alternate make in case of any genuine problem.

Sr. No.	Material	Make
1		Brand of cement in 53 grade – BIRLA SUPER / BIRLA A-1 / BIRL
		GOLD / ULTRATECH / AMBUJA/ COROMANDAL / J.K. Cement
2	Steel reinforcement	The state of the s
	Integrated plant	TMT steel as per IS 1786
3	CRS steel	TISCO / Rashtriyalspat Nigam Ltd. / SAIL
4	G.I. item	Prakash-Surya / Swastik / Zenith
5	Plywood, Block board,	
	flush door	Green Ply/ Century Ply
6		Ashish Glass / Modiguard / Saintgobain
7	Terrazzo Tiles	NITCO
8		Sample approved by architect
9	Concrete I avers block	Sample approved by architect
10	Glazed Tiles	Somany / Kajaria / Pedder / NITCO / Johnson & Johnson / Oasis / Asiar
11	Ceramic	Kajaria / Pedder / Somany / NITCO / Johnson & Johnson / Oasis / Asiar / Regency/Orient Bell
12	Vitrified tiles	NITCO / Kajaria / Pedder / Somany / Johnson & Johnson / Oasis / Asiar / Spartex / Orient Bell
13	Laminates	Formica / Sunglass / Decolam / Royal Touch / Greenlam / Century
14	Paints	Berger / Jenson Nicholson / Nerolac / Asian Paint
15	Acrylic Emulsion Paint	Dulux / Berger / Asian Paint
16	Water Proof cement paint	Killick Nixon / Snowcem / Duracem
17	Aluminium Sections	INDAL / JINDAL
18	Pipes, waste water and vent pipes & fittings	SWR Supreme pipes / Ashirwad / Kisan / Kothari / Premier
19	G.I. Pipes	Zenith / Prakash / Surya / Swastic
20	Valves	Leader / Win / Elco
21	Rain water pipes	Supreme pipes / Ashirwad / Kisan / Kothari / Premier
22	Sanitary wares	Hindustan Sanitary Wares / 'CERA' / Parry Engineering & Electronic Jonson & Jonson
23	Water supply fittings heavy type fittings	Jacquar / Hind ware/ L & K
24	PVC Doors, shutters, Tanks	SINTEX
25	Cement Concrete Pipes	Sample approved by architect
26	C.I. Soil pipe, waste water pipes, vent pipes fittings, Nahani trap	NECO of ISI 3989
31	Stainless steel sink	Nirali / Neelkanth
35	Galvanized Circular pipes & square / rectangle tubes	Zenith / Prakash-Surya / Swastic